THTLE: DIMENSTONAL DRAWING, 3263L

DETAIL B
SCALE 1]

/ﬁn—g—n

| |[{> THIS END UP - LANDSCAPE] \\

—

— 746 .6 = =—=7— 50
(EDGE OF GLASS)
L IGHT SENSOR éf//ﬁSEE DETAIL B
— N
A [ ] A i 5 fﬁ"i | — c —== ‘ : = = (4 THIS END UP - LANDSCAPE] ’\ @0 ‘ s I:>
I | o I g o _
Eﬂ ‘ o) %
700 .4 e @ - E%
(ACTIVE AREA) 3 I8 (e E— ™ =
—e |
k % O 9 =0 |
- e} %} .
i ] & Bl o
4152 4 394 .9 452 - | i 4 o L
(CHASSIS) (ACTIVE AREA) (EDGE OF GLASS) : 1. -
= - U
L o >
= i f%z( —
Eli= ALJ
@
d |
= DETAIL C
| “ SCALE ||
[ i 'S
— 747 | - 4-R3 SEE DETAIL C—
(CHASSS)
T T —
. — \
koo °olem = mep P et e U
1 1]
ﬁ%ii\\\\\\\; / N \
SEE DETAIL A G U 5 [T
® ©
S0 TOM O - ©)
| - 7 N = - @ | @ -
= g ;. © Q @ @
| | \
JSB TOUCHSCREEN OUTPUT AC POWER IN
HDMT | INPUT
0SD
VGA INPUT HDM| 2 INPUT iill]
ggngL,A MS602865
DIMENS TONS ARE IN MILLIMETERS ~ SHEET | OF 3 DATE: 08/23/21
REV: A




THTLE: DIMENSTONAL DRAWING, 3263L

INSTALLATION NOTES:
W4 THREADS. . DURING HANDLING AND INSTALLATION, DO NOT REST WEIGHT

- OF MONITTOR ON EXPOSED TOUCHSCREEN EDGE. AVOID
AR LR bR 8%@ FXCESSITVE PRESSURE OR SHARP IMPACTS ON TOUCHSCREEN EDGE .

DAMAGE TO TOUCHSCREEN AMY OCCUR.
2. MONITTOR SHOULD BE MOUNTED WITH TOUCHSCREEN FLUSH

T0 CUSTOMER KIOSK FRONT SURFACE(WITHIN =0.3mm TOLERANCE ).

o) © e e, 0 0 3. KI0SK DESIGN SHOULD PROTECT TOUCHSCREEN EDGE TO AVOID
l — = L ACCIDENTAL DAMAGE DURING USE AND CLEANING.
75  |= 400 75
SIDE MOUNT HORI/ZONTAL (CTOP/BOTTOM)
. 400 _ M6 THREAD ol = 58 4
MAX THREAD DEPTH = [OMM, X4 |
) = Wﬁﬂ%[@ THS BND P - LANDSCAPE | | % =S & = WL?:@‘
@ [ 9)
< > | ) ‘ © ZF A @<
” 75 %
- i ! D)
e - fe I = E
]
| o Yl
© >
| o B
443 L ) B st 200 250
(SIDE MTG. 3
HOLES) :
3
il
i =
—7 i T i e Q ! = E
[FI=nml 1 (Rl 2 VGA [©Sh) uss u \\M I v
il I D
i B0 o= — i L
TL—Jﬁ LT @l 1 ﬁL—J—© — O o -
j . . eo o __ . lo| o 4
M4 THREADS,
_ 136 4 _ MAX SCREW DEPTH = 8MM
(SIDE MOUNTING HOLES) A8
VESA MOUNT PFR MIS-F . 400 200 6 olDE MOUNT VERTICAL (I EFT/RIGHT)
MS602865
DIMENSIONS ARE IN MILLIMETERS SHEET 2 OF 3 DATE: 08/23/2)
REV. A




2.

3.

THTLE: DIMENS TONAL DRAWING,

32631

OP TITONAL PROJECTED CAPACTTIVE FILUSHMOUNT KIT  P/N 3172503
ORDER SEPARATELY CUSTOMER ASSEMBLED
- 776 . 440.5 —
| =] 85 390 85 |=—
(55) ! |
f@USTOMER PANEL THICKNESS:
| 3MM TO
- 790 . 4 26 . 3MM o
I
- 575 - ] i
85 55
- 100
X I
o@ _=_ 0o @0 A ZF 454 ‘ 5io . 5 |
120 | 30
$ 48340 .5
240 4 -t — L 260
X - 748 794+0.5 —
425 497 . 65
i
I :
MOUNT ING HOLES, 16X, FOR -
REAR-ENTRY SCREWS:
| |F CUSTOMER PANEL IS WOOD.
O ILOT HOLES FOR 4MM WOOD SCREWS.
2. |F CUSTOMER PANEL 1S METAL,
BLIND TAPPED M4 THREADED HOLES OR M4 STUDS. = 200 —=
= = I
o Y —— 410 —— 55
4.5 THRU MOUNTING HOLES, 16X. FOR
o ’ FRONT-ENTRY SCREWS
CLEARANCE HOLES FOR M4
M4 THREAD, X16 MACHINE SCREWS RECOMMENDED CUSTOMER PANEL CUTOUT
NSTALLATION INSTRUCTIONS: CUSTOMER PANEL
ATTACH BRACKETS "A" TO TOUCHMONITOR WITH QTY 2 M4 HEX HEAD SCREWS (INCLUDED), 8X
ATTACH BRACKETS "B" TO TOUCHMONITOR WITH QTY 2 M4 HEX HEAD SCREWS (INCLUDED), 8X - % JRALHET L
ATTACH BRACKETS "C" LOOSELY TO TOUCHMONITOR WITH QTY 2 M4 HEAD HEAD SCREWS (INCLUDED), 8X
ADJUST DEPTH OF BRACKET "C" SUCH THAT FACE OF BRACKET SITS BELOW TOUCHSCREEN | BRACKET A
SURFACE APPROXIMATELY THE SAME DISTANCE AS THE CUSTOMER PANEL THICKNESS. TIGHTEN SRACKET B
SCREWS HOLDING BRACKET "C".
INSTALL TOUCHMONITOR INTO CUSTOMER PANEL OPENING FROM BACK SIDE. TAKING CARE NOT TO BRACAET B
DAMAGE TOUCHSCREEN GLASS EDGE. CENTER TOUCHMONITOR IN OPENING USING SHIMS. TT1
SECURE TOUCHMONITOR TO CUSTOMER PANEL USING CUSTOMER-SUPPLIED HARDWARE. ADJUST — i
SRACKETS "C" |F GLASS IS NOT FLUSH TO CUSTOMER PANEL . : AN {f:
pred
SEAL GAP BETWEEN TOUCHSCREEN GLASS AND CUSTOMER PANEL USING SILICONE. MASK OFF M ] ®§
TOUCHSCREEN SURFACE TO ENSURE NO SEALANT LEAKS ONTO FRONT OF GLASS. T I - f |
1" (ADJUSTABLE) i
BRACKET A L i o :
A/\ T : | —
= N ;
e ———— L | D °
T T (DOQ
f & y 3Ll | n
TOUCHSCREEN SURFACE CUSTOMER PANEL T I} l]
CAUTION: WHEN ASSEMBLED, THIS SURFACE]
SHOULD NOT PROTRUDE BEYOND CUSTOMER PANEL T T T MS602865

DIMENS TONS ARE

[N MILLIMETERS

SURFACE ANYWHERE AROUND PERIMETER OF SCREEN

DATE: 08/23/2]

REV: A




	Sheet 1
	Views
	main_view
	right_1
	right_2
	bottom_1
	A
	B
	C


	Sheet 2
	Views
	new_view_8
	right_8
	top_8


	Sheet 3
	Views
	main_view
	new_view_14
	top_14
	new_view_17
	new_view_18



